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Answer all questions,
All questions carry equal marks. .
Only one ‘answer is to be given-for each question, o - R
It more than one answers are marked, it would be treated as wrong answer. . L
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means an incotrect answer of miore than one answers for any question. Leaving all the relevant circles or
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o

same after opening the envelopes. In case they are different, a candidate must obtain another question paper
of the same seriés. Candidate himself shalf be responsible for ensuring this, T
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Section 3 of the R.PE. (Prevention of Unfairmeans) Act, 1992, Commission may also debar him/her
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Which of the following is the latest excavated site of the Harappan Guliire 7

1
(1) Mohenjodara - (2) Ropdr
(3) Dholavira - (4) Kalibangan
ﬁq%ﬁaaﬁﬁmwgﬁrmmhmmma%mm% ?
(1) WieeeEs 2) Aw-
@) deEa (4) wwEW
2 Which of the following is the earliest veda - - :
(1) Samveda ' (2) Yajurveda
(3) Rigveda : (4) Atharva veda
Prefufiae & ¥ F—w AQ TREH T 7 |
1 wee @ ugk £
() WXk @) oudR
'3 Who was the last Teeithankar of Jainism - S
(1) Parshwanath - (2) Rishabhdev
(3) - Padamprabhu - "~ {(4) Mahaveer Swami
A b ofem dm BT A 7 _ _ o
(1) wRd | @ W
3 Wﬂ‘ﬁ ' Gy H’EIE?R @
4 In Whlch Buddlust hterature are the techmques of Gautam Buddha mcluded ?
(1) Abhidhamm Pitak - @ Milind Phano °
 (3) Vinay Pitak (4) Sutt Pitak
%ﬁg@ﬁﬁwﬁmwﬁaaﬁ@wﬁﬁmw% ?
(1) ofiw few . (2)- fifa= el
(3) foa s 4 ¥ s
5  Who was the successor of Chandra Gupta Maurya 7
(1) Ashok : (2) Bindusar
(3) Vishnu Gupta \ (4) Kunal
T W ST B @ ? '
) O (@) g
(3) fasm< | @) I
6  Which of the following is not a sect of suffism ?
(1) Saiyadana (2) Chishtiya
'(3) Sohravardiya . (4) Kadiriya
Prian § AF-a GO W GSEE TS 7
(1) I (2) fefdam
® vshw A - @
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7 The ‘Red Fort’ of Delhi was built during the reign of -
(1) Babur (2)  Shahjahan
(3) Jahangir (4) Akbar
el & o et et Prrfor Rra MEA BT F gy oy ?
() [y (2)  qmETEt
3) wEiT (4) e
8 What was Saidr-us-Sudur (Chief Sudur) in Mughal administration ?
(I) Foreign Minister (2) Defence Minister
(3) Minister of religicus affairs {4) Chief Justice
T g SE-sE-gye (e ggR) Fr a7 ?
(1) Rror %k ' () G
(3) =it et BT o (4) Jea iy
9 After coming to India from South Africa in which city did Mahatma Gandhi gave
his important public appearance.
(1) Karachi (2) Champaran
(3) Varanasi {4) Lahor
Mm&mﬂﬁw%qﬁﬁwﬁmﬁ&%mwmﬁmw&aﬁ
fom et T ¢ -
(1) =T (2) =R
(3) ™ 4) R
10 Who was the Zar (Ruler) of Russia in the starting of Russian Bolshevik Revolution
n-1917. . N
- - (1) Alexander First (2) Alexander Second
(3) Catherine Second {(4) Nicholas Second
1917 ¥ =& <redifts wifa % sy ¥ wg 37 9¢ (sTverm) —
(1) uRwRTeT guT (2) uwFTsT e
(3) H¥lw fidm (4) Ty e
11 Where was the secretariat of the League of Nations situated ?
(I) Geneva (2) Danzing
(3) Hague (4) Viena
oY o Whawg @t fRog a1 7
(1) fo=r (2) =if<m
@3y @ (4 fagw
12 In which conference was the United Nations Organization charter finalized ?
(1) Yalta conference (2) San Fransisco conference
(3) Moscow conference (4) Dumbarton ox conference
IR AZHY & AR B o1l wY frg a=ieT A Ry w7
(1) e wee 2) & wifue T
(3) et 99w (4) sHRET T e
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13 When was the first conference of the Indian National Congress started at Bombay?
(1) 31 December, 1885 (2) 26 December, 1885
(3) 30 December, 1885 ' (4) 28 December, 1885 ‘
AT T HHT B 949 AT g5 7 B YR gar ?
(1) 31 fegmaz, 1885 (2) 26 Ry, 1885
(3) 30 Re=y, 1885 (4) 28 fggge, 1885
14 In which of the following ‘Upanishads™ was the description of the four ‘Ashrama's’
made firstly
(1) Mundakopanishad {2) Chhandogyapanishad
(3)  Vrihadaranyakopanishad (4) Jabalopamshad
IR} Sl o S wewae feg Subtee K gem ¢
(1) 9ussmtmg (2) wRFaeUTIg
(3) gEIRTTHMUTIE (4) <EwEEYg
15 Give the chronological sequence of the following events connected with Mahatma
Gandhi. '
(A) The Dandi March
(B) The Poona Pact
(C) The Kheda Satyagrah
(D) The Non—Cooperatlon Movement
Code :
H ©DAY® 2y A B D)
3y B (A) D) © ) (D) (C) (B) (A) -
Wmﬁémﬁaaﬁmﬁﬁﬁwaﬁiﬁrwa%ﬁmaﬁq—
(A) =& gEn
(B) T wwEhar ()
(C) w3 TomE
(D) srawan HTRIwT
Fe ot _
1y (© ®)(A)®B) 2) (A)(B)(©C) D)
By (B) (4) D) ©) 4) (D) (C) (B) (A)
16 How many ‘Pratyanta’ states of SamudraGupta are mentioned in the Allahabad
Piller inscription 7
(1 3 2) 5
@) 7 @ 10
WA F TR & fhan ‘wera ot (St ) 9 See ¥ 7
(1) 3 2) 5
3 7 @4 10
37_A] 4 | Contd...
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17 What name was given to Finance Minister of Mughal central administration ?
(1)  Wakiya - E - Navees (2) Sadra - Us - Sudur
(3) Diwan - E - Aala - (4) Mirbakshi
T B o 3 R % wer wiar o
(1) =fear — w — 5w ) & -39 - g
(3) €EF - u - smr 4) HrEeh
18  Where did the representatives of 13 American colonies declare the independence
in July, 1776 ?
(1)  Philadelphiya ' (2) New York
(3)  New Jersey . (4) Washington
qOE 1776 €. @ 13 Gﬁﬁaﬁaﬁaﬁﬁﬁuﬁ!ﬁfﬁﬁf%ﬁﬁwaﬁﬁwmﬁaﬁ ?
(1) frereten 2) ark
(3)  =qordf (4) =fifre
19 Which Buddhist council took place in the time of king Kalashoka 7
(1)  First ' (2) Second
(3) Third (4) Fourth
U BT & T A g o g 2
(1) 9w (2) fag
(3) g 4 wgd
20 If the axis Gf earth was not inclined the rays of the Sun would have been vertical
only over - i
(1) Tropic of cancer _ (2) Tropic of Capricorn
(3) The poles (4) The Equator
u&qﬁﬁaa&r%mg&a@f@m?ﬁ@aﬁﬁmﬁmqﬁm:
(1) =% Yar gy (2) " @rux
(3) gt =« - 4) e Tar W
21 Atmosphere receives most of its energy from the :
(1) Convection
(2) Conduction
(3} Long wave terristrial radiation
(4)  Short wave terristrial radiation
G ATSH ST STt B SHRBT AT e Bear E
1 dma3
(2) dEm
() e R S qin
(4 e fafeeer @y aor §
37_A} o 5 [ Contd...
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22 Which ocean current can help a boat in sailing from Mexico to Philippines ?

(1) California current (2) North Equatorial current
{3) South Equatorial current (4) Kuroshio current
Al & Teellarg o 99 o 90 A SF-H0 9 98Re sen ¢
(1) eimifar gry (2) ol YRedE gR
(3) =N qReadE A (4) wgafen ara

23  Equilibrium theory of the origin of tides was presented by :
(1) R. A. Haris (2) Darvin
(3) Newton (4) Sir John Murray
ST W Bt e e wega e
(1) omg sf@ = 2) w3
(3) A (4) WIF WA

24  Which one of the following pairs is not matched : #
(1) Tetrahedral theory - W.S. Margan
(2) Plate Tectonics theory - Hert Hess
(3) Planetesimal Hypothesis - Chamberlin and Molten
(4) Continental Drift theory - A. Wagner
Preffae ¥ & BT TH g gk 8§
(1) og~eas & fHgrd — s=ud. A
(2) wie fudfumr s — 30 39 _
3) T R - TedE T e
(4) wEdT v fhera - T S

25  Match the following types of soils and regions in India and select answer using
code given below

List - I (Seils) List - IT (Regions)

(A) Alluvial (i) Highland areas of the Plateau
(B) Black - (it) Periphery of the plateau

(C) Red (iit) Deccan lava tract

(D) Laterite (iv) River basins and coastal plains
Code : '

(1) (A)-(v), (B)-(iit), (C)-(i), (D)-(ii)

(2)  (A)-(iv), B)-(ii), (C)-(ii1), (D)-(i)

(3) (A1), B)-G), (O)-(ii), (D)-(v)

@ (A)Gv), (B)-GiD), (O)-(i), (D)-()

IRE ¥ U W g reataied g F yER od el @ gae fShE gar e R as
¥ S @ G RN

e - 1 (g=) | - I (ree)

(A) g (i) R F = a7

(B) @i (i) R F IRy &

(C) v (iii) &FFT AN T

(D) w=we (iv) “Rer ¥ afeT wa adm fem
E'Ed':

(1) (W), B)-ii), (C)-GD), D)-i)
@) (A)-v), B)-i, (O)Giid), (D)-()
() (A0, B)(i), (©)-(ii). (D)(iv)
@ (M), B, (C)-Gi), PI()
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26 During 2001-2011 population growth of India was :

(1) 17.64% @) 18.06%
(3) 19.76% | 4) 20.06%
TRE & 2001-2011 % Jw swee ofs 5

(1) 17.64% 2) 18.06%
(3) 19.76% (4) 20.06%

27  Which one of the following wind changes its direction according to weather 1s :

(1) Chinook (2) Loo
(3) Monsoon (4) Mistral
fratan § & $9-9 ©F vae Hew & e R @ T & 7
(1) tr® @ T
(3) A 4) g

28 In which layer the maximum part of atmosphere is found ?
(1) Troposphere (2) Stratosphere
(3) Ilonosphere (4) Ozonosphere
TIASH I GaAIE W B WX A T W s ?
(1) «dfeds dea (2) THGN Hewd
(3) oMW wUswW (4) ol Jus

29 The largest rver island is :

(1) Majuli (2) Lakshadweep
(3) Moore (4) Minicoy
T T3 6 A T
(1) et (2) W
() (4) T
30 Tropical everygreen forests are found in India : _
(1) Tamil Nadu {2) Andhra Pradesh
(3) Kerla {4) Madhya Pradesh
WRA W W] FHiLaHT TR 99 IR WK ¥
(1) afrag A (2) oY WA A
(3) @A : (4) =em w_w A
31 The state which usually does not receive winter rainfall is :
(1) Jammu - Kashmir {2) Tamil Nadu
(3) Maharashtra (4) Arunachal Pradesh
T e e A sfiaweie gite T8 B 9w ¥
(1) w9 - @WR (2) wbtrEEE
(3) mERSE (4) orETEE Wl
37 Al _ 7 [ Contd...
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33 The factor not affecting the distribution of insolation is :
(1) Cloudiness |
(2) Distance from sea
(3) Number of sun spots towards the earth
(4) Obliquity of sun's rays
Frafqr % RO B S BRE THAE T B §, T’ -
(1) wevsET
) wEER
(3) g W e W) FEE W e
@ @ & e @ R
kel
33 Delay in the occurrence of next indirect tide at a place, is -
(1) 60 minutes {2) 13 minutes
(3) 26 minutes (4) 52 minutes
fiy T T O aTTel waTe & o N T gk E
(1) 60 firrz - (2) 13 fime
(3) 26 fme (4 52T
34 Sahyadri is -
(1) Vindhyachal range (2) Western ghat
(3) Siwalik range (4) Outer Himalayas
el ¥ -
(1) TreamEa 9o (2) ufkelt "R
(3) fienfas a0t - (4) v e
35 The place known for manganese mining in Rajasthan is -
(1) Talwada (2) Singhana
(3) Dariba ' (4) Zawar
erear # Fri @ & fig e we E -
(1) st (2) fae
(3) <l (4) =X
36 Which group of districts in Rajasthan have recorded highest growth percentage of
population in 2011 ?
(1) Jaipur, Jodhpur, Jaisalmer (2) Badmer, Jaisalmer, Jodhpur
(3) Jodhpur, Banswara, Ajmer (4) Jaipur, Kota, Udaipur
Preifag ¥ ¥ H-3 Rt % = ¥ 2011 F eiften saen gig wiawis siftoa R 7
(1) Ty, gy, SR (2) =R, S, AU
(3) YR, STEErET, HEET (4) YL, W, TG
37 A : 8 ' { Contd...
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37  Which district of Rajasthan is not a producer of Calcite ?

(1} Sikar (2) Pali
{3) Sirohi (4) Alwar
TR % - erm Heage w1 searaw T & 2

(1) - (2) u=
(3) Rd (4 s

38  Which of the following is not a correct match ?
(1) Instrumentation limited - Kota
(2) Rajasthan State Chemical Works - Sambhar
(3) Chambal Fertilizers - Gadepan
(4) Hindustan Zinc Limited - Debari
Frerffam & & w—ar g 98 & 7 _-a
(1) sgi=wm fafits — =
(2) wraE ' Siew gad - |y
() o= wERgeT - R
(@) Tgam i ffes - 3l

39 River Berach is tributary of the river -

(1) Banas  (2) Luni
(3) Sabarmati 4y Som
oUW R werw v Y, we
(1) ™ (2)
(3) wEEd (4) dm
40 Gross National Product {GNP) at market prices does not inchide -
(1) Indirect tax (2) Subsidy
(3) Depreciation - (4) Wages and salaries
T HAA T FbeT WL T A whefer T8
(1)  smreser #¢ 2)  agew
() TETw @ gl T 3T

41  Net National Product (NNP) at factor cost differs from Net National Product at

market prices by the amount of -

(1)  Current transfers from rest of the world
(2) Interest on National debt

(3) Net indirect taxes

(4) Capital consumption allowance

WWW@@WWHWWW@@WWﬁ%T@TWW

Tar ¥ -

(1) 99 WX & wrw = e
2) v o a7 e

(3) g svw@y %

(4)  goir s wer

37.A] 9
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42 When nominal GNP is Rs. 65,000 crores and price index is 125, than real GNP
will be -
(1) Rs. 13,000 crores (2) Rs. 52,000 crores
(3) Rs. 65,000 crores (4) Rs. 81,250 crores
m%wn@qmﬁ,momw&%eﬁraﬁqﬁm 125 ¥ @t Irefe
IHT TR 3@ (GNP) € — .
(1) 13,000 %0e sq3 (2) 52,000 %= B
(3) 65,000 s TEd (4) 81,250 wiE vy

43  What factor does not remain constant when demand schedules is made ?
(1) Prices of complementary goods (2)  Prices of substitution goods
(3)  Prices of factors of production  (4) Prices of commodity itself
m%m@@mwﬁ%ﬁﬁqmm%ﬁw ?
(1) 7= agat N Ay (2) WO Tgel N Sy
() wEER & wue o Sy (4) =g & wy B Ay

44  What effect an Improvement in the technology will have on the supply curve ?
(1)  Will shift right ward (2)  Will shift left ward
(3) Will bedd backward (4)  Will remain stationary
aﬁmﬁ'gwaﬁrlﬁwwwméﬁn? _
(1) =R ok Rraffa g (2) < &R Rrafig @
3) O & sl g3 @) Rz @m

45 When the negative income effect outweigh the substitution effect, the concerned
good is - '
(1)  an interior good {(2) anormal good -
(3) a giffen good (4)  aluxury good
S IS S YT, uﬁwmwa@rmarmamﬁ@a‘rawﬁaaa@% -
(1) ¥ =g (@) wmH ag .
() fifte =g @) Freftren & =g

46 Which of the following is a qualitative control method of credit used by a central
bank ?
(1) Bank rate and Repo rate (2)  Open market operation
(3) Statutory liquidity ratio (4)  Regulation of consumer credit
mﬁﬁﬁa%mmw#mwwmﬁ% ?
(1) & 3t ol 3 ax . 2) T IR B Brury
(3) dufr® W suE 4) SuitET @ @ P

47  Which one of these qualities of money is essential for it to perform any of its
functions ?
(1)  acceptability (2)  stability in valye
(3)  durability (4)  cognizability : _
w%%&mﬁ%ﬁmm%%ﬁﬁ%ﬁgﬁﬁﬁﬁ?wwmm%?
(1) ek (2) Twa % ferar
(3) k@@t (4) vsum

37 A 10 [ Contd...
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49

50

51

When credit is to be expanded in the economy, the central bank -
(1) sells securities in the open market

(2) buys securities in the open market

(3) increases the bank rate

(4) increases the cash reserve ratio

i Sl ¥ Ry & TR ST 8 O R g6 -
(1) ga seR A wieryfaat ser $1

(2) TW IR A vl @liEdr §

(3) % T Femm F

(4) &% HOMIAE B Ve E)

At present the Governor of RBI is -

{1) Subba Rao (2) Y. VWReddy
(3) Raguram Rajan (4) C. Rangrajan
T A R 8% & TR 8§ -

(1) g=1 @@ 2) =€ & =
(3) g T (4) . TREA

Which of the following are included in broad money (M3) in India ?
(a) Currency with the public

(b} Demand deposits with commercial banks

(¢) Time deposits with commercial banks

(d) Other deposits with RBI

Select correct answer from code given below :

(1) (a), {(b) and (c) only ' (2) (a) and (b) only
(3) (c).and (d) only {4) (a), (b), {c) and (d)
TRa ¥ foga o1 (M3) A T @ 6 oo feem S & 7

(2) Al & U Bl

(b) wnuha SH & " AT T

(c) =uie ¥ & Y@ g9 TR

(d) T 9% & T o sWE

A2 R T 2 w1 I B gO @ oW e - o

(1) (a), (b) 8T (c) Haw (2) (a) AT (b) Hemw
(3) (o) ¥ (d) “) @, O), ©) ¥R @

Which of the following sector provide maximum employment in India ?
(1) Agriculture

(2) Manufacturing industries

(3) Services

(4) Manufacturing and non manufacturing industries

aRa B9 A ¥ B T O aeR oifie (eI e #Rar ¥ 7

(1) i

(2) T s

(3) v

(4) Tl a R FEEl g9

37 A | 11 [ Contd...
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54

55

56

Out of the following, which one concept of deficit in the union budget is the latest
one ?

(1) Fiscal deficit {2) Revenue deficit _
(3) Budget deficit . {(4) Effective revenue deficit
& g W Feafafad 4 € B9 ¥ W A SEERw w9y Al ¥ 7

(1) TG e (2) TEE "Rl

(3) o = (4) TR O "9

Which of the following 1s the second major tmport item of India ?
(I) Petroleum, Oil and Lubricants {POL)
{2) Capital goods

(3) Gold

4) Coal

Fratalad ¥ § HF 9 ARd F oA § fnla v ww ¥ °
(1) ugkeE, a9 od e@ (POL)

(2) st agpd

(3) =

(4) =@

Which type of unemployment is chronic in nature ?

(1) Disguised (2)  Frictional

(3) Seasonal (4) Structural

e TR B IS RS e A el & 7

(1) *odz (2) = -
(3) @ (4) TS

In the situation of disguised unemployment, marginal productivity of labour is -

(1) Positive (2) Zero

(3) Maximum (4) Increasing
fisdt 33 JOSTY H oreEn &, o7 H WETT IaEsEr SR ¥ -
(1)  &TwT® ) ¥

(3)  oiftrpam | ) W g

India's total merchandise trade as a percentage of GDP in the year 2011-12
stood approximately at -

(1 432 (2) 234
(3) 342 4 243
¥ 2011-12 & Witg @ Fw ARG @R, GDP & iiskd & &9 §, dw -
(1) 432 (2) 234
(3) 342 (4) 243
37 Al .12 | Contd...
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61

Which of the foltowing body is responsible, as per constitution, for distribution of
resources between the centre and the states ?

{1) Reserve Bank of India (2) Planning Commission

(3) Finance Commission {(4) National Development Council
Preited & @ & 1 Frea @Rt % srEm, sl % e e ot § R % frg
ReeR & 7 '

(1) Tt §% sifw shear (2) A smErT

(3) T amam @) = fyew qig
Among the following, what is not related to Traditional Perspective of Political
Theory ? 4

(1) Value laden approach (2) Institutionalism

(3) Positivism (4) Euro-centric
frwtifers & & il feeta & wowew it & dafm i Y 7
(1) ¥ Wi suem (2) weaEE

(B) uaEER (4) TU9 Bl

Who has defined Politics as 'Authoritative Allocation of Values' ?
(1) Gamer ' (2) Graham Wallas

(3) David Easton - (4) Robert Daht

o TR B A ¥ T adet B we d fonfva R ?
(1) T (@ R wwmE

(3) sfas $wo (4) & sEA

Among the following, who led the 'Chicago School' ?

(1) Charls Merriam (2) Eric Voegelin

(3) Arther Bentley {4) August Comte
Preiifea % & Rray Rrrit e @ dge o 7

(1) e AfEs _ (2) Tt anfww

(3) ondR S (4) ST B

Power legitimized' is called -

(1) Force (2) Authority

(3) Influence (4) Manipulation
‘aferegt afRT wead ¥ -

(1) =& (2) gur

(3) W | @) g

37_A] . 13 | Contd...
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Identify the Incorrect match of Feature of Indian Constitution and related Provision
/ Judicial Interpretation thereof :

(1) Republicanism - Elected President

(2) Democracy - Universal Adult Franchise

(3) Federalism - Supremacy of the Parliament

(4) Rigidity in Constitution - Docirine of Basic Structure
ﬁﬂéﬁﬂﬂﬁ%ﬂ%fﬁ%ﬂﬂ@ﬂmﬂ%ﬁmwfmﬁéﬂ?%w%ﬁmﬁq
(1) orisEE - Faifad g

2) W - T T AAEHT
(3) THaw” — YU BN Geredl

(@) dfrar @ Borar - qW G g

o
63 In India, 'Cyber Crime' is enumerated in -
(1)  Union List (2) State List
(3) Concurrent List (4) Residuary Subject
W F, WA ey’ 9o § -
(1) @agd A (2) = gd A
(3) wmadl g ® (4) emEfe fwa &
64 'Traffic in Human beings' is prohibited by -
(1) Right to Equality (2) Right to Freedom
(3) Right against Exploitation (4) Right to Constitutional Remedies
e W gedtare afid ¥ - -
(1) “wwan % @R R (2) Al % SfHmT w0
() 9w % fes al@r T @) ddufes TR & eftm mw
65 In which part of the Constitution, Directive Principles of State Policy are
- mentioned ?
(1) Part - IIl (2) Pari- IV
(3) Part - VII (4) Part - VIII
wRraw ¥ Rrg W ¥ -k % Pred qel @ e § 7
(1) e - I 2) - IV
(3) - VI (4) wer- VIII
66 In Fundamental Duties, our culture has been mentioned as -
(1) Composiie (2) Secular
(3) Harmonious (4) Popular
T wdl ¥ N HEpR B W Y -
(1) amfe® - (2) HuTIH
(3) ™ (4) <rRtE
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68

(1) RT & rgafy (2) W@ @& e AR
(3) T (4) TErErrERd

69  President of India, elected unopposed is -
(1) Rajendra Prasad (2) S. Radhakrishnan
(3) V.V Gir (4) N. Sanjeev Reddy
TRy w0 ¥ Prati e & WWF%T z -~
(1) == e (2) @ TuEEH
@) & & frd | @) . wfa @

70  Direct Democracy is executed at - _
(1) Gram Sabha (2) Gram Panchayat
(3) Panchayat Samiti (4) Zila Parishad
TIE SR @ featafy Bd & -
(1) wmrawmd (2) 7w dawEa §
(3) dumr winfy o (4) T ufg o

71 With which neighbouring country, India has a di spute on its Human Rights Record ?
(1) Maideev (2). Sri Lanka
{3) Nepal (4) Bangladesh
ﬁm@%ﬁ%&r%m&rmﬂamﬁaﬂéwwwﬁaﬁ% ?
OB GEE (2) i
(3) uw (4) iRy

3741 15

By which Constitutional Amendment, Judicial Review on Constitutional

Amendments was prohibited ?

%Hﬁmﬁmﬂaﬁmmﬁmﬁwﬁsﬁw%mﬁawﬁmﬁﬁﬁ@ﬁwwm?

(1) 24 Amendment (2)
(3) 424 Amendment 4)
(1) 2497 gsmes (2)
(3) 42at dsiuw (4)

25M Amendment’

43 Amendment

2597 gty
43T el

Who 1s known as the 'First Law Officer' of the Government of India ?

(1) President of India
(3) Advocate General (4)

(2) Chief Justice of India

Attorney General

TRA TR o 3 gan fafy sferd sy &7
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74

Arrange the following incidents of Indian Democracy in ascending chronological
order and select the correct answer : _

(a) Formation of National Front Government at the Centre

(b) Second Nuclear Test

(c) Supreme Court's Verdict in Shah Bano Case

(d) Implementation of Mandal Commission Recommendations

Codes :

(1) (), (@), (d), () (2) (), (), (b) (&)

(3) (a), (b}, (), (d) 4y (b), (a), (d) (c)

TR AT o Pretifhd T2l H SR FREAER i BT Td T et
CARCDE] a?l'f\?ﬁ;f :

(a) = ¥ U Al R S T

(b) TEY TPEBE TLIEeT _-.»‘.‘

(c) 9 S gHer # Soaad g & F

(d) wisw smEr & Rrwielt @ Sratals

F< :

(1) (c), (a), (d), (b) 2y (), (c), (b) (&)

3) (a), (b), (), (d) (4) (b), (a), (d), (0)

Which two states have dispute over the distribution of Krishna River water ?
(1) Karnataka - Tamil Nadu (2) Tamil Nadu - Andhra Pradesh
(3) Andhra Pradesh - QOdisha (4) Goa - Karnataka

FHWT T F W P feraeer o fe @ Tl F one e ¥ 7

(1) ==ies — afrrg (2) dFETg — SNy UIN

(3) oy wew — aifsew (4) e — FeATew

Identify the Group of countries, working to attain permanent membership for India
4n United Nation's Security Council ?

(1) BRIC (2) BRICS

3y G4 4y G-20

39T % TE Bl TeC, S WGFR % hl YA UNWE A RG @ Wi T & Mg
HEATT T 7

(1) W (2) fmw
(3) -4 : (4) <20
75  Among the following, what is not an impact of Globalization on Indian Politics ?
(1) New Social Movements (2) Ideological Solidarity
(3) Identity Politics (4) Development Discourse
fermiferg ¥ ¥ T IRAME TEHIR 91 YHSAHL H UG 6L § 7
(1) 3 gt side (2) FeERaTETE TEged
(3) UEEE @ oI (4) Trem—{fme
76  The National Commission for Women was set up in -
(1) 1990 (2) 1992
(3) 1993 (4) 19%4
LT AR AT FTST TS —
(1) 1990 % (2) 1992%
(3) 1993 & (4) 1994 %
37 A 16 [ Contd...
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77

"Sociology is about social relationship, the network of relationships we call society”.
Definition given by

(1) Cuber (2) Maciver and Page

(3) Green 4) Sorokin

gAY TR Teerell o fawa ¥ &, vl & 3w o @ o 99 wed ¥ wRe
Ul : ' '

(1) =&z (2) wEeR g I
(3) T (4) drafe
78  Which one is not the example of Primary group ?
(1) Family {2) Play group
(3) Neighbourhood {4) Poltical party
T ¥ U WUt TE B OSEET w8 ¥
(1) 9fEr (2) e T
(3) ww (@) s &
79 When a class is somewhat strictly hereditary is called
(1) Varna (2) Group
(3) Caste ' {4) None of the above
N9 UH o ol g ot enaia fer ¥ o weemar &
(1) ot (2) wE
(3) wnfy (4) T ¥ =g wef
80  Which of the following factor is not hindrance in national integration ?
(I) Casteism o (2) Regionalism
(3) Urbantsation (4) Communalism
frfifen & @ @ @1 a1 Usira et § wwr 8 g 7
(1) wrfdamg 2) &var
(3) Tl 4) vBREGE
81 "History of caste in India" book is written by
(1) .Herbert Risley (2) 8. V. Ketkar
(3) G S. Ghurve {4) Bottomore
el ot wre 37 shrear e R ¥
(1) === Rew (2) wH. . HIBC
(3) s uw g4 (4) «EER
82 Class is determined on the basis of
(1) Age (Z) Race
(3) Sex (4) Occupation
i & Frufior & s ¥ -
(1) ong (2) shd
(3) fetn (4) =aamE
37 A] ' 17 [ Contd...
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83  Which is not the cause of communalism ?
(1} Political interest {(2) Religious dogmatism
(3) Communal organisations (4)  Economic development
T W BITH APYIRIET B BT A8 ¥ 7 '
() To=fes R (2) wifie =FaEr
(3) wEETYE e (4) o e
84  Which one is not the type of Purushartha ?
(1) Dharma (2) Moksha
(3) Arth (4) Love
R ¥ UH Gourd w YE T Y -
(1) oot (2) A= #
(3) @ @)
"Collection of human beings who are brought into social relationships with one
another” is called
(1) Status (2) Social organisation
(3) Social group - (4) Institution
vferdl B dae S B uw qEy W e g i e B HEATT & ~
(1) wRafq (2) e e
(3) wmNTE e 4) <
86  Who said "Caste is a closed class" ? -
(I) D. N. Majumdar {2) T Parsons
(3) S. C. Dube (4) Karl Marx |
"Wl T S q Y a9 we R 7
(1) <. w9 ToEeEr (2) A
3) ww g @ ot
87  Classical name of Love marriage is
(1) Gandharv Vivah (2) Brahma Vivah
(3) Dev Vivah (4) Prajapatya Vivah
T frar @ s T Y
1) weE fyare (2) = g
(3) T e 4) v e
88  Who is the author of the book "Marriage and Family in India" ?
(1) D. N. Majumdar (2) S. C. Dube
(3) K. M. Kapadia : (4) A. M. Shah
AT yoe Rl T shear’ qmie % dwm A L 7
(1) <. T. wsEarR (2) we @@
(3) & wa. wHulfEar (4) uw .
37 A] 18 { Contd...
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89  The first recognized cases of AIDS were occured in the
(I) USA (2} USSR
(3) UK (4) India
Q@(@S)%a&gwwﬁw&aﬁvﬁmﬁqﬁnﬁ% ¢
(1) 39 wy u (2) 9. wa ug. em.
(3) 3 = 4) g
96  Which year 'The Hindu Marriage Act' was implimenied ?
(1) 1958 () 1955
(3) 1968 | 4y 1945
'The Hindu Marriage Act' f5g o & A forar T, ?
(1) 1958 () 1955
(3) 1968 4) 1945
91 The base accepted by Karl Marx in the formation of class is
(1) Religion ' (2) Social
(3) Cultural - (4) Economic
,mwmé%aﬁﬁﬁwmwwﬁﬁamm%, TwE ~
(1) uifife . (2) @R
(3) wiwke (4) onfim
92 Who has written a book on "Social Change" 9 _
(1) R. M. Maciver (2) Wilbert E. Moore )
(3) K. Deyvis. (4) H. M. Johnson B
"R A I e e R &2
(1) &R . dgEmR ' () fae= s g3
(3) . g 4) w . e
93  Nepotism, Favouritism and misuse of power are all examples of
(1)  Corruption (2) Ignorance .
(3) Conflict (4)  Social solidarity
M~ TATTaE, wamar, TR B gEwar o Rewer serec & 7
(1) ywemE & (2)  orsUTET
(3) wud = @) v oof g @
94 Who is the author of book "The Protestant Ethics and the Spitit of Capitalism' ?
(1) Durkheim (2) Maxweber
(3) Malinowaski (4) Merton
The Protestant Ethics and the Spirit of Capitalism' Y& % g @9 & 7
(1) 3zdm (2) fewE
(3) AR 4y #=&
37 A] - 19 [ Contd...
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96

97

98

99

Who has used the word 'Sociology' for the first time ?

(1) Durkheim (2) Comte

(3} Marx (4) Pareto

AT 9T BT 9w guar fee fear ar ?

(1) 3@ (2) @i

(3) W @ =&

Who said, “Administration is a moral act and Administrator is a moral agent" ?
(1) Ordway Tead (2) Felix Nigro

(3) M. E. Dimmock (4) H. Finer

e et f6 Comes uw Al TR ¥ it aes U e sttt 7
(1) onsq 3z (2) iwag o

(3) wmnefw §. Rt 4) T wER

Administration would differ from one sphere (e.g., Education) to another sphere
(e.g.. Public works), if we accept which one of the following view ?

(1) POSDCORB (2) Managerial

(3) Integral {4) None of the above

Tt o & o giteamior &1 Wit % IR U &4 (3, Rren) %qa"(a%r (e, Wi fmior)
& qreT | fo=ar o s 7 :

(1) dresd (2) wEEES™

(3) whga (4) Sww A F BY

The most representative work in ‘the II phase of development of Public
Administration as a discipline has been ? _

(1) Frank J. Goodnow's - Politics and Administration

(2) L. D. White's - Introduction to the Study of Public Administration

(3) W. F. Willoughby's - Principles of Public Administration

(4) Gullick and Urwick's - Papers on the Science of Administration
musm%wﬁw%wﬁﬁm%%ﬁuwaﬁwﬁ%w&ﬁﬂrwﬁ@ eff ?
(1) %% 3. TS @ — O T H9TEH

(2) ud I =mEE B — WP YA AT @ TR

(3) ==g. UE. fawdr A - dw werEe ¥ et

@) T T St A v B R W

Which of the following was most emphasised in “New Public Administration"?
(1) Customer driven Administration (2) Market Oriented Administration

(3) Ethical Administration (4) Transparant Administration
T Wik AT # Tl @ teR A ¥ Rew ww fer w7
(1) TEs oI U9mE (2) IR I wIEA
(3) Al wemET (4) TR useE
37_A] 20 [ Contd...
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100 Identify the wrong pair :

101

102

103

104

(1) Neo-bureaucratic model - Herbert Simon

(2) Beyond ballot box democracy - John Rawls
(3) Democratic Administration - Vincent Ostrain
(4) New Public Service - Jurgen Habermas

T g B T HY

(1) o gfmm - w8 o

(2) AU & T gEET — W e

(3) v yaee- Rz s

(4) 79 d@ a1 - T e

Which of the following represents 'one best way' of structuring organisation 7
(1) Bureaucratic theory (2) Classical theory

(3)  Scientific management theory (4) All the above

B § B ek o ) fffe e ¥ i (T wddrs alion) ey wehif
FATE ?

(1) ety fre (2) e firgia

(3) mfv= v fireia (4) wudet @Y

Which one is not the characteristics of Bureaucratic form of organisation ?
(1) Rationality

(2) Rule orientation

(3) Impersonality

(4) Committment towards political ideology

Wﬁ%ﬁ?ﬂﬁ&ﬂ@ﬁmmaﬁﬁﬁr@mﬂﬁ% ?

(1) efhaar -
(2). Ter—wEs -
(3) i

(4) TeFIRS engst ¥ iy whiEsa

'Union is strength’. Which of the following Principles of Management given by
Fayol represent this idea ? :

(1) Centralisation (2) Esprit-de-corps

(3) Equity (4)  Scalar-chain

e B e ﬁsﬁﬁmuﬁmﬁﬁﬁmﬁ%%gaa%ﬁ@ﬁﬁfﬂsﬁmtaﬁwaﬁ
EICUE

(1)  rexer (2) wEh—<mi

(3) waFEar (4) wha-—=w

"Identifying occasion when a decision must be taken” this statement refers to
which activity in- Simon's decision making model ?

(1) Intelligence activitly (2) Design activity

(3) Choice activity (4) None of the above '

T SIET B T T S U Profa e eramavas @ war & o T& HAT EAT
Pt Fetor =fsw % Rre Brar & dafg & 7

(1) <ifsw fen (2) s B
(3) = Bear (4) sHw 7 I B
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105 Which one of the following is not a Hygiene factor as per Herzberg ?
(1) Achievement and growth needs
(2} Company policy and Administration
(3) Working conditions and Salary
(4) Supervision and Interpersonal relationship
T % FIAR B ¥ ¥ B o vt s T8 2 7
() wiitq & gfg sravaeant
(2) Ut & Dy v gomE
(3) =TT ud I
(@) v od emrduleE 99y
106 "Civil servants should not confuse Political neutrality' with 'Programme neutrality" "
‘Who said ? *
(1) II ARC report (2) Paul H. Appleby
(3) Jawaharlal Nehru {(4) Sardar Patel
e YEE W USeE e @ e qear & e Sew w ¥ TH e
TR — aE Reg wer ?
(1) Tl wsmbes gar s (2) uE g qaad
(3) AR W Ew (4) WER g
107 In order to safeguard the neutrality and impartiality of the Civil Servants, ITAR.C.
recommended which of the following ?
(1) Politicisation of Civil Servants (2) Spoil system
(3) A new Civil Services Law (4} The repeal of Article 309
aﬁm@aﬁa%mmqﬁﬁwwéﬁmaﬁgﬁrﬁaﬁaﬁ%ﬁmfﬁﬁummﬁmgwm _
I P ¥ Y e omar A 7 - i
(1) <% Qe @ ToEr (2) <E—EEE T
(3) @ = d% da@r e (@) erg. 309 @ g
108 Which of the following favoured a generalist dominated Civil Services ?
(1) Fulton Committee (2) Northcote-Trevelyan report
(3) Robert Presthus (4) Second Pay Commission
ﬁwﬁﬁﬁaﬁmﬁugﬁaﬁmwﬁaﬁﬁsmﬁ ?
(1) weew qfify (2) iR foE
(3) = weuw (4) i S emim
109 Who held the opinion that when the work of a department is mainly technical, it
is desirable that the Secretary should be a person with technical ground in the
particular field ?
(1) Lord MaCaulay (2) B. Sivaraman
(3) Kothari Committee (4)  Second Pay Commission
e 58 79 @ wwdw T 5 A et Formr 1 @ v w7 @ gaiE @ @, e
81 & Tashwer & g aoman s Wl 2
(1) w& e (2) & R
(3) R whfy (4) f&a I emEm
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118 In order to Encourage Citizen's participation in Administration, 1T A.R.C.
recommendation does not include which of the following ?
(1} Periodic Consultations with Citizen's group
(2) Fool proof system for registration of all complaints
(3) A prescribed time schedule for response and resolution
(4) Making social audit mandatory for all government departments

usmﬁmwrﬁmgﬁﬁaam%%@ﬁﬁﬁuumﬁmgmm@w%ﬁmﬁw

(1) =i et & Fives avamt 3 b9 s

(2)  wt et & SR ¥y i e s @ R

() T v 9 ghitear g wTEoaon & s

) TR T et % R wrf siderr i areamrd qwmr

% 111 Which one of the following is not a mechanism for ensuring Citizen's participation
: in Administration ?
(1) Universal Adult franchise
(2) Right to Information
(3)  Social Audit
(4) Use of referendum for changes in Public Policy :
wamﬁammﬁmrmﬁmaﬂﬁaﬂﬁmﬁ%aﬁ?mwmﬁﬁ% ?
(1) wreife e qafimr
(2) guT w0 st
_. (3) wHRE eikam

112 When was the Lokpal and Lok-Ayukta Bill first introduced in Indian parliament?

(1) 2 March, 1963 (2) 24 February, 1963 -

(3) 9 May, 1968 : (4) 29 Oct., 1971
mﬁaw#m@meﬂaﬁﬁﬁwmmmmgﬁﬁmwm ?
(1) 2= 1963 (2) 24 wTal 1963

() 9 wE 1968 (4) 29 sz, 1971

113 Which one of the following statement is not true ?

(1) . Odissa was the first state to pass the Lok Ayukta act.

(2) In most of the states, the tenure of Lok Ayukta is 5 yrs. or 65 yrs.
superannuation age, whichever is earlier

(3) Lok Ayukta have powers of only Civil Court.

(4) Ministers have been kept out of purview of Lok Ayukta.

Pt dm wem oma ¥ 7

(D a\wwmﬁﬁaﬂ%wumwaﬁ:ﬁwml

) m:ﬁﬁﬁ,ﬁmmw@asaﬁmm%aﬁﬁaﬁqﬁﬁﬁﬁm
A .

3) W@Wﬁwﬁwa&aﬁmﬁmﬁ%l

(4) W = o AR @ dage % dmiye @ a var T d |
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115

116

Who among the following is not Consulted by Governor while appointing Lok
Ayukta in Rajasthan 7

(1) Leader of opposition in State Assembly

(2) President of India

(3} Chief Minister of the State

(4) Chief Justice of the High Court

TRy ¥ wigea @1 trgiR I, Ivaaw te A | feew aeEst w9 wer 7
(1) e Rue g Y wle Ao

(2) WA & AN

(3) T~ W gEEel

(4) T EEd % T A

The meaning of Rta in vedic literature is

(1) Yagna etc (2) Immortality of Soul
(3) Eternal moral cosmic order (4) Polytheism

AR ol & =a @ ol ¥

(1) u= enfy FH®HIs (2) ST B ST

(3) onsEa ARG wEMSE SR (4) «gd G

Word 'Upnisad' means _
(1) Charter of vedic duties (2) Spiritual literature
(3) To sit reverentially by the 'Guru' (4) Discussion about transcendental

T’ ot @ o ¥

() 3% faa wE=R @ @) et
(3) T % win fFrergds o @) e fawas e
117 Which of the following is not true according to Socrates ?
(1) Knowledge is virtue (2) Virtue is unattainable .
(3) Virtue is essentially one {4) Virtue a can be taught.
g % oTyER Frafilea ¥ @ 7w s ¥ ?
(1) = & w R (2) wETIa T
(3) WU A ®IH T & (4 wg faeria ¥
118 The author of Nichomachean Ethics" is
(1) Plato (2) Spencer
(3) Aristotle (4) Bentham
TR aftem’ & i @
(1) ==t (2) I
(3) e @)
119 Plato does not support
(1) Excellence of character (2) Justice
(3) Classless society (4) Formal Education
W FR wAE T ¥
(1) =afer st Sepsea 2) =w
(3) ot e g (4) ohunter fven
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Gross Hedonism holds that

(I) Pleasures have only qualitative difference

(2) Pleasures have only quantitative difference

(3) Pleasures have qualitative and quantitative difference
(4) Pleasure is a means to some higher end

WA AR # qrar &

(1) F&l ¥ Faa TorRs 99 or &

() &t A baw v Vg Bar

(3)  gal ¥ e @ AT Wq dar ¥
(4) gu ol somay aren & oy o G ¥

Which of the following is not significant relevant”in Kantian Ethics ?
(1)  Consequence of action (2) Good will

(3) Freedom of will (4) Kingdom of Ends
%ﬁﬁwm%%&mﬁ%@mﬁﬁm% ?

() = wa (2) g9 THw

(3) ey wW=T (4) At m IR

There are three Theories of Punishment, retributive, reformative and
(1) Positive (2) Curative

(3) Imaginative (4) Deterrent or Preventive
3 % M faar ¥, sehteroers, gurens oo

(1) w=HEs : (2) STEREAH -

(3) =i : (4) wRREreTs a1 Fradroms

Which .one of the following expresses best the thesis of determinism ?
(1) Whatever happens is the will of God.

(2) Whatever happens is predictable.

(3) Whatever happens is preordained.

(4) One can act according to one's will. '

ﬁﬁﬁﬁaﬁ?wﬁmﬁﬂ%ﬁﬁ%ﬁ%@?ﬁmwﬁﬁﬁaﬂﬁw% ?
(1) it ufea gar &, 9% $eayemr & |

(2) s W ufed g ¥, ww il O &

(3) <t 0 wlea Far ¥, @ o PrefRg T

(4) | UF AU TV FYER H BT G S |

What is the correct sequence of Purushartha 9

(1)  Arth, Kam, Moksh, Dharm (2) Kam, Arth, Dharm, Moksh
(3) Moksh, Arth, Dharm, Kam {(4) Dhaim, Arth, Kam, Moksh
gEuTdl B ' Y ¥ v |

(1) o, =, da, onf - (2) wm, sk, wf, Gy

(3) #a, o, wd, e @) wd, &, o, W

Eo ot o
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125 According to Bhagvad-Gita a literated person is one who has given up
(A) Desire (B) Actions
(C) Attachment (D) Anger
Which of the following is correct ?
() (A) and (D) (2) (B) and (C)
(3) (B) and (D) (4) (A) and (C)
Wirag Tar & SER 99 S 98 ¥, e @ Rar ¥ -
(A) el @ (B) @
(C) onafemral =t (D) sHiEr @t
Fet & @t feq @dt & 7
(1) (A)wF (D) 2 ® )
3) (B)w D) @ AT (O
126 According to whom wisdom courage, temperance and juztice are four philosophical
virtues ?
(1) Plato (2) Aristotle
(3) Socrates (4) Kant
e TR WS, WEw, WM, U 9 9] Insiee g § 7
vy @ (2) gHE
(B) s\ (4) =
127 Which one of the following is not a part of Vedas ?
(1) Sambhita (2) Purana
(3) Brahaman (4) Aranyakas
FrAdgFRrTag T ¥ ?
(1) df (2) guw
(3) —smEwW (4) omvawm -
128 Four Arya Satyas (Noble truth) do not state that -
{1) The suffering is there : (2) The suffering is eternal
(3) The suffering can be removed  (4) The suffering has cause
K e Gl H STgEK YW W ¥ T
(1) gE¥ (2) T& M ¥
() g@ @ iy W ¥ (4) 3@ ® BRI T
129 Gandhi's Satyagrah disapproves
(1) Love for opponent (2) Path of Non-viclence
{3) Moral strength (4) Passive Resistance
e & TEE SRR BN §
(1) Ta0sh & g 9w (2) efémr = "t
(3) HfE @ (4) Fiivea wierde
130 The self evident truth according to Descartes is
(1) God is Kind and All powerful. (2) God created the world.
(3) I think therefore I am, (4) The world is ever changing,.
o ¥ R W frw T
(1) Svatoag ol wd sfmmm= &1 (2)  dear ¥ s o T @ & )
() Admm gy € (4) O — §aT SterdEeliE ¥
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131 Teacher as per Nationai Curriculum Framework 2005 18 a:

(1) Boss (2)  Facilitator

(3) Leader {(4) None of the above
Tr@mm'ocaaafzowas’rﬁqim%mfém%:

(1) -nfes (2) g :
() Far (4) SR ¥ ¥ R

132 Following are the principles of construction of social studies curriculum except

(1)  Principle of utility (2) Principle of flexibility
(3)  Principle of activity 4) Congrerva_tive
ﬁw%iﬁaﬁ@wmawaﬁmaﬁﬁqﬁ%ﬁ@a%, foama
(1) swEither o1 fyary (2) e @ e

(3) fomar w1 Ry (4) wlead

133 According to Bloom's taxonormy which of the following action/s belong/s to
‘Cognitive Domain' 7 :
(A) to recall
(B} to analyse
(C)  to write

(1) (A) and (C) @ (A)and B)
(3) (B) and (C) (4)  (A) only
- w%mﬁwm%aamrﬁwﬁ%ﬁw{ﬁﬁww%ﬂaﬁw%?
(A) vmEmEr &®{AT '
(B) frydovr mmy
(€©) fag :
(1) (A)E () @ (A ®B)
() ®wWEC) : (4) = (A)

134 An effective teacher is one who can ;
(1)  Control the class
(2)  Give more information
(3) Correct the assignment carefirlly
(4) Motivate students to learn
T guE) fiers aw & i
(1) = @ Frimor @ %

(4) TEnfiii @& oreme % e 3hg w5t
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135 Which of the following would be best suited to enable children of Class-VI to
express their creativity ?
(1) Reading news papers (2) Preparation of charts
(3) Preparation of scrapbooks (4) Collection of coms
Srffae & ¥ BEar FA-VIL ¥ qaw & ST geresar ®f dfversd F A
T % e waife saga & ?
(1) FE=RT G (2) IEE FAR &
(3) ErFIgE JE B (4) Rrrst @7 g% B
136 Social studies study the relationships between :
(1) Man and man (2) Man and institutes
(3) Man and earth (4) All of above
QARG oTeaaq 96 o % Grae 37 STedaT ¥
(1) e g A (2) Td T Hean
(3) e wd gl (4) S wd
137 Which of the following practice of teaching social studies allows for a critical
analysis of a dilemma, historical event or social occurrence by the students 7
(1) Field trips (2) Lecture
(3) Project (4) Role playing
fo ¥ T @y g Riee R @ sy T @ et giten, SRl wem
AT R BT % GRS T B A dae ?
(1) & A (2) =wEE
(3) WSl (4) it fraEa -
138 Which of the following method/s are child centred ?
(A) Role playing (B) Brain storming
(C) Problem solving (D) Co-operative learning
1) (A), (B) and (C) @ (A and (B)
(3) Only (C) _ (4) Al of these
frer ¥ @ ) bRt Rt Bhs ¥ 7
(A) I e (B) gqwmie R
(C) waET gHY™ (D) TEamde St
(1) (A), B)w (C) @ (A (B)
(3) =@ (O) @ =
139 The term evaluation includes :
(1) Measurement (2) Non Measurement
(3) Value Judgement (4) All of the above
i o o ¥
(1) ¥uq (2) s
() Tz Frlg (4) I @l
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140 Learning takes place :
(1) In the school
(2)  Outside the school
(3) Both within and outside the school
(4) Only in the classroom
AR B F
(1) ey q
2) FrrE % 9w
(3) = W o  wE ey
(4) wIT BAW-HH
141 Introduction of continuous and comprehensive evéﬁlation has made the evaluation
system :
(1) More refractive of the entire personality of the child
(2) Complex by incorporating to many details
(3)  Vague as exact rank of the student cannot be found out
{(4) More comprehensive to analyse the performance only in the scholastic areas
AT TS AR [Fh bl TS F oA ey @
(1) =% & wol =ieme a5 el waild &) O o= 2
@) g et R @ ehafrg B g s e 3
- (3) o ST ¥, wiiie Rl & Fied Y8 B s T8 5 gear
(4) oaw Sarr & ¥ P @ fisdeor wed % firg e qErard
142 Project method is used in social studies teaching for :
(1)  Self study o (2) Analysing activities
(3) Learning social environment {4) All of the above
HETRTE Sreaa et % e RaRy @ v ¥ :
(1) @ e % o (2) Tiigtaftmt % fayersor % g
(3) wriie awERe B de B e (4)  oedEw el
143  Apart from the content a social studies teacher should have knowledge of :
(1)  Objective of teaching (2) Method of teaching
(3)  Technique of teaching (4) All of the above
s s & e @ fvrag ¥ Te-we 5 9 o
(1) frerer @94y = (2) fyeror Rftry @
(3) T gedile @ S (4) I9Ew el
144 Which type of questions will not develop critical thinking among social studies
students 7
(1) Close-ended questions (2) Divergent questions
(3) Open ended questions (4) Probing questions
fore st & Wi wrfore sremae & e ¥ sndiaions T @1 R T8 w7
(1) &= us (2) oA ves
(B) @ uw (4) aeTQr g
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145 In which of the following method the teachers seen more as a facilitator than a
deliverer of knowledge and information 7

(A) Lecture method

(B) Project method

(C) Story telling method

Select the correct answer using the codes given below :

(1) Only (A) @) Only (B)

(3) (A) and (B) 4) (A), B and (C)

frrferfe & foot FayRfedt & fivers 1 e w9 T e wamar @ st s
@ G 6 Al B

(A) wrEE iy I's

(B) wmEEr fafy

(C) war fufy

J [ 7 B ¥ @ ey # w97 2w -

(1) aw (A) (2) Fa= (B)

B A w(B) 4) (A), B (C)

146 The philosophical basis of project method lies in

(1) Idealism (2) Naturalism

(3) Pragmatism (4) None of above
T Rt # i s

1) omster ¥ 2) vl ¥

() Wt @) o ¥ B 7

147 A teacher of social studies may update him/herself professional through :
(A) Participation in refresher course
(B) Attending conference
(C) Being an active member of professional organizations/bodies
(D) Reading Journals and magazines of his/her field
(1) All the four are true (2) Only (A) and (D)
(3) (A), (B) and (D) (4) None of the above
TSI ST B T e WY B AremtE W Y e H g
(A) ygaal AT ¥ T et
(B) ditftedl & wrr det
Q) =i e/ et @ Brashe gee e
D) o &3 1 uferd o wwle wwet

(1) = v& (2) R (A) T (D)
3 A, BT (D) (4) Ul A ¥ B T8
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The five step approach of lesson planning is created to

(1) Johann Friedrich Herbart (2) William Heard Kilpatrick
(3} Rousseau (4) Herbert Spencer

TS W F G T BT AT o o

(1) <™ Wi s e @ (2) e & fredfes &

(3) == W (4) T @ w

Some institutional support materials are given below. Decide their nature and
select the answer from the codes given below :

{A) Blackboard v

(B) Computer '

(C) Presentation using Power Point

Codes :

(1) (A) is hardware and (B), (C) are software

(2) (A) and (B) are hardware and (C) is software

{(3) All are software

(4) All are hardware
ﬁ%@s@g&&mﬂmﬁ@ﬁﬂé%lﬁa&@%ﬁﬁﬁmﬂ%ﬁqﬁﬁmaﬁsﬁ
¥ T T 99T BN

(A) s Uz

(B) ®z

(C) 9ER uiE= & wees

e -

(1) ~(A) wor frew ¥ 7t (B) 7 (C) #hwr e 3 -

(2) (A) @ (B) #R Brew ¥ 7 (C) wiww Riew ¥

(3) =i mmw fiwew ¥

4  wf FeR firew ¥

Curriculum includes which of the following item ?
Select the correct answer using the codes given below -
(A) Course contents

(B)Y Programme of planned activities

(C) Intended learning out comes

Codes :
(1) (A) and (B) (2) (B) and (C)
(3) (A), (B) and (C) (4)  Only (A)

ureTeEt § A F § H0 we wfeiig ¥ 7
T Ru T P F ¥ o 9T T B
(A) fava o

B) Tt nfafaiet = orfeg

(C) =&t 7§ ety witrat

FE :
(1) (A) & (B) ) (B) ¥ (C)
3) (A), (B) R (O) (4) @ (A)
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